Antriebstechnik  (Predki)  - Getriebe (ATI_11)

MUSTERLÖSUNG:

a) 
[image: image1.wmf]78

,

0

214

,

373

1

105

26

,

30566

1

.

.

=

-

×

-

=

×

×

×

-

=

×

×

-

=

-

=

Nm

Nm

i

T

T

T

T

P

P

M

M

M

ab

G

M

M

ab

ab

G

M

ab

ges

w

w

w

w

h


b) 
[image: image2.wmf]kW

944

,

15

Nm

105

60

1450

2

2

min

min

1

=

×

×

=

×

×

=

s

M

M

M

T

n

P

p

p


      
[image: image3.wmf]kW

P

P

ges

M

ab

44

,

12

-

=

×

-

=

h


      
[image: image4.wmf]kW

50

,

3

)

1

(

-

=

-

-

=

-

×

-

=

ab

M

ges

M

V

P

P

P

P

h


c) 
[image: image5.wmf]Nm

T

i

T

T

M

ges

ges

M

G

3

,

30671

=

-

×

×

=

h


d) 
[image: image6.wmf]28

.

3

2

1

-

=

×

=

S

S

ges

Stirn

i

i

i

i

= -z2/z1
Übersetzung  soll mit vorhandenen Zahnrädern realisiert werden mit 17, 18, 55 und 59 Zähnen:

( 
[image: image7.wmf]47

.

3

17

59

=


( 
[image: image8.wmf]06

.

3

18

55

=


( 
[image: image9.wmf]24

.

3

17

55

=


(  
[image: image10.wmf]278

.

3

18

59

=

       (   
[image: image11.wmf]18

1

=

z

       
[image: image12.wmf]59

2

=

z

    PAßT

_1043747890.unknown

_1106040914.unknown

_1106041606.unknown

_1106041607.unknown

_1106041132.unknown

_1043747914.unknown

_1043747727.unknown

_1043747818.unknown

_1043747876.unknown

_1043747840.unknown

_1043747774.unknown

_1043747418.unknown

